EEEL R Ay | 4M6F5A1HRE

S PRIBIBIE (R 4 LR T — %)

ING R 2BIEIYIET
[#&@aza]
ORtBE X @ntiE OEFHEONHBLTLNEHD @xEHE OKRFIRIARR FHEF
SHTEEREFEE 91.4% 148 0 164 2
SH2EE L 86.7% 111 0 137 9
SH3EEREE 91.4% 128 0 143 3
SHAFEERRELE 93.5% 131 0 142 2
SHSEERRELE 97.6% 122 0 128 3
XO#EE=( @] + @1 )/([@] - T®] + [®])
[DERZR] XEM29EE, 30EEEEEFRKOEFROR/R
@)1= @siiE CEFEHEOHNFHEL TLWEHD @%%E ORF AR EFELE
SHTEEREE 75.3% 67 0 93 4
SH2EEREE 68.4% 50 0 80 7
SHBEERRELE 71.6% 58 0 83 2
SIHAEEREE 86.9% 73 0 90 6
SIS EEREE 83.6% 77 0 99 7
XOst#=E=( (@] + 31 )/([@] - T®] + [®] )
[feEERIZ R
OtBE X @t OEFHEONHBLTLNEHD (Ot OKRFIRIARR S S H
SHTEEREFEE 93.0% 66 0 71 0
SH2EERREE 91.0% 71 0 78 0
SHB3EEREE 98.2% 55 0 56 0
SHAFERRELE 100.0% 65 0 69 4
SHSEERRELE 97.5% 79 0 82 1
XO#EE=( @] + @1 )/([@] - T®] + [®])
[EitRETH]
OB QA QEFEONHEL TLWEHD (Or==<5 ORF AR EESE
SHTEEREE 100.0% 72 0 72 0
SH2EEREE 100.0% 70 0 71 1
SH3EEREE 100.0% 67 0 67 0
SHMAEEREE 100.0% 55 0 55 0
SHSEERELE 100.0% 54 0 54 0
XOs#E=( (@] + 131 )/([@] - T®] + [®] )
[UrEYF—2a 3R]
OFBRE X Q#BE QUEFEONFBEL TLELD O+ ORFRARREETH
SHTEEREE 93.1% 95 0 102 0
SH2EEREE 84.3% 119 0 141 0
SHB3EERELE 82.8% 106 0 128 0
SHAEEREE 84.5% 120 0 143 1
SIS EEREE 87.9% 117 0 135 2
XOpEE=([@] + 1®1)/([®] - [®] + [®])
[#EFH]
OtBE X @tE OEFHEONHMBLTLEHD ®rxEE OKRF AR FEF
SMTEERREE 93.0% 66 0 72 1
SH2EE L 94.2% 65 0 71 2
SHIEERRFELE 93.1% 54 0 59 1
SMAEEREE 98.4% 64 0 73 8
SHSEERRELE 97.1% 69 0 72 1

XKO#HWE=( @] + 1301 )/([®) - ®] + @] )




